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1) 7K : £ET95 ~10.1 C, JKET 7.3 ~9.1 COFHIZH T,
2) 45y RIBT32.6 ~ 33.2, JKET33.1 ~33.6 DHEiHICH -7,
3) pH:7.85 ~ 8.09 0#iPHICH Y, R TAREMKELE (7.8 ~ 84) Ziiil-L T\ iz,
4) COD : 0.1 Kiiii~0.6 mg/L OFFIZH VY, 2L CTKEMKIEHE (BASMENE : 2mg/LULT) %
g7z LTz,
5) DO : 7.0~10.3 mg/LOFMIZH Y, 2R TKREHKERE (6.0 mg/L LLE) &z LT\,
6) MRS FHBIIUL FofHENICH T2,
U UBREEY o (PO4P) : 9.5 ~ 54.2 ug/LL
T rE=THEESR (NHeN) ¢ 3.7 ~ 59.0 ug/L
diaEfEREZE SR (NO2-N) - 0.1 K% ~ 2.4 pg/L
HlERE%F (NOs-N) : 4.2 ~ 66.8 ug/L
(ZRB=HX 9.1 ~ 102.2 pg/L)
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